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And furthermore: - W2 HHI KW NIRRT
R''2w1 says what is an 7o°w; anything in which a > poo was
intermingled; however the xw-n stated that a %7 is 2w>.

OVERVIEW

The %773 has a difficulty with the statement of X"2wA. It contradicts the Xw™.
It is not clear whether it contradicts the X¥°7 of the Xn»972 [the p"n] (the
opinion of 019071 2 and the 11"1); or whether it contradicts the X1 of X"aw"
himself (no010 >"w1 nww). First Mmooin cites the 0°19077 %5 N0 and their
interpretation; followed by *"w2 no7°) and his interpretation.

= JNIN 12229 ¥I9292) D901 D91 19209) 29N
This is the reading in all the texts as well as in the commentary of the

1''9; as cited in the heading (omitting the words 2w 121 PRI 17790) —
= 2109 YN INTY NN DN POD NA YNLIY DD WMDY

And the n"7 explains the s'R7n3 question as follows; X"2w" stated that an
n0°y which is 77w> is any 70°Y in which a ®»n P2 is intermingled; we may

infer from this that if a definite r was intermingled then the 10 is 72195;

however this poses a difficulty —
- 551 AN 1991 WS YN NYY NN N

For you stated in the X241 in the statement of the X»2p Xin that if a or is
intermingled then the 70°¥ is 7 w>; which means that even a %2m 58T is
oW,

mooIN rejects this X077 and the ensuing interpretation:
= 11999 D9 RNP NIN NNJT NNDP NINM 7999 INNT NN 1PN)

And this interpretation is not plausible; for how can the X731 challenge a
statement of X"2w from the p''n?! Perhaps the »''n argues with X"aw-.”

mooIn concludes:
= 9P2°¥ NV DIVNPN VI

" The p"n stated that for an 70°¥ to be 77Ww3 it cannot have any of the enumerated 22109, A 991 was not one
of the enumerated 0°7109. This indicates that even if a 951 *RT1 was 70°v2 ¥v1 the 70°Y is 7Ww>.

 The ?"N can maintain that even if a 9917 °X71 was ¥ynvi the 70°V is 77w>; while X"2w7 can maintain that it is
7Ww> only if it was ¥nu1 with a 9711 P90 but not with a om X1,
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And the explanation of >"'w1 and his reading of the text are conclusive.’

SUMMARY

According to the 117, there is a contradiction between X"2w" who maintains
that (only) a %n P20 is 70°¥2 "Ww> and the P"n who maintain that (even) a X7
o9 is 7o°va Two.

MBoIN rejects this, because the p"n and X"2w" may indeed be arguing.
According to n2o1M "1 the contradiction is that initially X"2w9 maintains
that a 9%n poo is n0°¥2 Wwd; however from the expression 2217 11010 PRY
"D AW, it seems that even a 9911 P90 is 70°Y2 HI09.

THINKING IT OVER

Why did not the 119 ask the same 77°n0 in X"2wA as >"w7 does. Seemingly
217w 17971 %1 PRI would indicate that even a ¥nuiw 571 P50 would be
5010 the o°w?”

3 According to *"w1 the text reads as in our X723 (inserting the words 172w 121 Pxw* 11°91); however at
the conclusion it reads w3 971 Poo XKW1 Nk XM, The contradiction, as >"w1 in w"3 3"71 PRI 7"7 explains it
is that in the Xw™ of s'R"2w" statement it says 7211 Poo 72 ynvIw 73; (only) by a %1 poo is the 77w> oy (and
not by a o1 *x7). However from the statement of 'om1aw 0°%%m 1721 PRI 121 PR 19701, this indicates
that even a %91 o0 is 0% the 70w,

* See 3w MK 7210 ,9" W 2"
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